ER-IERRREE-RR

TMTESA29BRE

= oo HEEREE WIHARRE
fF IR P 3R X iy
EMEBE | RS XiE 7a IR
mRA EEEL DO AR
*7 GRKE) |ZEmEEiEE |9
(TMKRE) |LIEREEREE (136
Bi2)7E=39.5, ILR)IIFE=33.2, H&)IFE=65 —{&)I7E=6.2,
L e RARNFEE=4.8, #¥)115715=3.5, F2M)IFE=10.9, ZF0E)IIFTLE=16.6,
AR TR BiElIE=4.7, $ABA)RE=5.7, #E)I7HE=9.3, \K&)IFHE=6.7,
K LB )FRE=11.4, BF)I7HE=57, W/|fE=9, BA)IFHE=56
iy ey . . S
e T =g RE=(5, 22.6), ZFMEF)IRE=(5, 16), REJIFRE=(5, 10.2),
- &% W Ist=(5, 8.1), BmAIFs=(5, 5)
- SEEANEKTHR |_
IZkDE%E
R E 5 EE 20m/s
2RF YRR 20m/s EEHES
= = () %2 EFiﬂl 1ZE§FEﬁB§Z'EE§o);¥325cm
A RROFS ITE 1265 RS O FE&350m
R EEES
=8 FAL _
PN FAMESEHELE |6
TiEmSEEERE [103
EE)IRE=31.6, LR )IH=26.5, HA)IFE=5.2, Z&)IFiiE=4.9,
F TR RARNFRIEH=3.9, #)115R5=2.7, F2M)IIFRIL=8.7, ;ZFNEF)IIRi5=13.2,
ALAPRETE Bi#)IRE=3.8, $RABA)FE=4.6, #E)IFiH=74, \KXB)I|F1g=5.3,
K L2BNFRE=9.1, S8)IFE=4.6, WEF)IIFiE=7.2, FER)IFig=44
iy —
EAREY =R IRE=(5, 20.3), FRIEIIRIE=(5, 8.7), FEMEF/IFRiZ%=(5, 10.6),
aE% £8)I1%HE=(5, 9.1), WEIIFiE=(5, 7.2), BAIF=(5, 4.4)
BEMIGEKRFR |_
IkDE%E
S T RE 12m/s
RE FHREE 12m/s BEES
= - i 1205 % E D FES15cm
AS REORS ITE 1265 RS O FE&200m
- BUR AEES
S i
ES EFEZICIYBELNTEINDEE
BE
BB e [100m
BrIR B/INEE40% TERNTE60%
DEEDFEE100cm EDIBE
QEEDRE 50ecml EHYRDLT
iEhn 1 BEDFES30cmLl L
2 BEESEHSCLLE*?
3 HhiEYDER
33 BIESE-4°CLLTF*®
S BES RESBCUT
&K
2= 1205 RIEEDFERS: 15ecmll £
== KiB:—2°C~1C

(5o R R0 R P Rl A R TR 2R

1 E#Faﬁl"ﬁ% [100mm

EEREEY, REREIER) O hEICLAEEEERLTLET,
*? SRIERSRIESRERFROE.
* SRITEREMBS S ERFTOME,



